MORE ABOUT AQUI NO S TI NY SECRET

First | want to nention that there is a very small m stake by ne
In the weight of System G Professor has initial weight of
34,85Kgr and | used, in ny equations 35Kgr initial weight. I
checked if we have large differences in currents and | realized
the differences is in a magnitude of 0,2 to 0,4A So, there wll

not be any problemand | will continue to use it, in ny equations
( Only the J. X equations ) the initial weight of 35Kgr, for not to
confuse the reader.

J. X Equati on:

m — 35Kgr-2-1, 96Kgr{\/1+ 5,71-1077 - 14, -2, (u,) —1} [1]

g(System G)

Now we are going to see nore into the neasurenents of Agui no,
about the current and the reduced wei ght. Professor Aquino clains
that he neasured a current of 130,01A and the weight junped to
5,8Kgr. And theoretically he predicted 129, 83A for this weight.

The error in the currents is the foll ow
I _
Bxp 1T _ 130,01A-129,83A 100 = 0.138%
I 130,01A

= Experimental Current

Exp

Exp

|, =Theoretical Current

This error can be considered as the accuracy of the instrunent.
Meani ng an accuracy of =0,138%.

The usual instrunments and specifically the Inductive Ameter has
an accuracy of =*2% or +3%(cheap commerci al version), which is

depended on the neasuring scale. Maybe he used a very accurate
met hod.

Anot her two very inportant scenarios are the foll ow

The one, is in ny equations, where | use Relative Magnetic
Pernmeability of 25000 ( exactly ), it gives 133,57A ( not rmns )
for al nost m=5,8Kgr.So the error of ny theoretical result and the
experinmental result of Aquino' s is:



le — I _ 130,01A—-133,57A

100 =-2,73%
I 130,01A

Exp

| . = Experimental Current

Exp

|, = Theoretical Current

Where this error is in the range of accuracy of a commercial cheap
| nductive Ameter.

The second scenario, maybe is related to the tiny secret of

Aqui no, which is nore possible.As you can renenber we concl uded
that the Initial Relative Magnetic Perneability of the Iron Shield
I's al nost 500. Now we will make a second trick.

We are going to cal cul ate the Maxi num Magnetic Perneability, by
usi ng theoretical and experinental data, according to Aquino’s
di agram

Firstly we are going to use, his theoretical prediction of weight,
meani ng the 5, 8Kgr for 129,83A and we will apply these results to
equation [1] ( J. X Equation ). The equation [1], becones:

5,80 =35-2.1, 96{\/1+ 5,71-107 -129,83* -n? (z,) —1} -

8,44 = [1+5,71-107 -129,83'n? (u,) =
n.(x,) 1s a function
n? (u.,)=433-10° =n (u,, ) =658-10’

Now we are going to do the sane, as we did, for the cal cul ati on of
the Initial Relative Magnetic Perneability. W know

2
[ L ) =1 where n,, =622-10" is the refraction index in g, = 25000 4,
nr (lleaX) /umax

and n_(z..) is the refraction index ,using ., where appears the maximum value
in 129,83A (not rms)

Finally we have the result:
ooy = 28409 11
For initial weight of 34,85Kgr we take the sane result.

The same we will do it for the equation of Aquino. | check sone
points by his table of values and | concluded that he uses the
followng formula, for his theoretical points:



_34,85Kgr —2-1 69Kgr{\/1+4,4-10‘9 4 —1} 2]

mg (System G)

Pl ease check it. W see that he uses 1, 69Kgr wei ght of Torus
Shi el d, when ny cal culations by his geonetrical paraneters gave
1, 96Kgr. Here we have a conflict.

Hi s diagramis described by equation [2].Then we have two
scenarios. The one is that he nmade a m stake and i nstead of
1,96Kgr he wote 1,69Kgr.Or | cal cul ated wong the Vol une of Torus
by his paraneters.

Pl ease, confirmagain ny calculations if they are right.

First we nust transformthe equation [2], to have a general
expressi on, depended by the refraction index. As we know the Torus
surface is 0,374 nf.So there will be only a change in masses,in
equation [1]:

_ 34,85Kgr —2-1,69Kgr N1+ 5,71-107 - 14,12, (1,) —1} 3]

mg (System G)

The above is the exact general form ( depended by the current and
the refraction index ) of Aquino equation and according to his
theoretical values on the related table in his paper.

By appl ying the sane paraneter val ues as above, the equation [ 3]
Is the foll ow

5,8=34,85-2.1, 69{\/1+ 5,71.10% -129,83" -n? () —1} =

9,59 = \[1+5,71-10% -129,83'n? (u,,.) =
n° (u,,)=56,1-10" = n (u, ) =748-10" =

2
[ Moy j =1 where n,, =622-10" is the refraction index in z; =25000- 4,
N (bmax) ) Hiva

and n, (x,,,) is the refraction index ,using ..., where appears the maximum value
in 129,83A (not rms)

Finally we have:
!%mx:‘30120'l4).80 we concl ude the foll ow



For I, =129,83A and weight reduction to 5,80Kgr,
J.X. Eql]: 4., =28409- 1,
F.A Eq[3]: u,,, =30120- 4,

W take the sane results, if we use the experinental data of
130, 01A.

Now we wi |l check the value of 133,57A, which ny equation [1],
predicts the reduction of weight to 5,80Kgr. W know that equation
[1] for 133,57A and reduction of weight to 5,6 8Kgr, has Rel ative
Magnetic Perneability of 25000.We will apply this current to
equation [3]( Aquino’ s equation by his Table and D agram):

5,8=34,85-2.1, 69{\/1+ 5,71.10% -133,57* -n% (1) —1} -

9,59 = \1+5,71-10% -3,18-10° - n?, () =
n® (u,.)=501-10" =n (x.)=707-10" =

2
[ Moy j = where n,, =622-10" is the refraction index in g, = 25000 4,
nr (/umax) lleaX

and n_(u..,) is the refraction index ,using ..., where appears the maximum value
in 133,57A (not rms)

Finally we have:

Mooy = 32467 - 11,

Then by take all of the above results, we have again:

For 1., =129,83A or I, =130,01A and weight reduction to 5,80Kgr :
J.X. Eq]: 4., =28409- 1,

F.A Eq[3]: u,,, =30120- 1,

And for I, =133,57A and weight reduction to 5,80Kgr :

J.X. Eql): ., =25000- g (It is known fact)

F.A EQ[3]: u,., =32467- u,



CONCLUSI ONS AND COMVENTS

I n any case the experinental and theoretical data of Aqui no, gave
at least 13,6%greater value than the Relative Magnetic

Pernmeabi ity of 25000.

Then agai n the conclusion goes to our initial suspicion scenario,
wher e:

Prof essor Aqui no had the B-H Curve and the Perneability Curve of
the Iron Shield, which was given by a manufacturer or by the

Uni versity.

Because the Perneability is a very unstabl e paraneter, which
depends on Tenperature, Current and the Tinme Stability factor, the
B-H diagram predicted a 25000 of Relative Magnetic Perneability
In specific conditions, but during the operation of the System G
this paraneter appeared |arge fluctuations.

This fluctuations maybe caused by the increasing of the
tenperature by the absorbption of the ELF Energy in Torus Shield
or by the current itself.

W nust not to forget that the current, is an AC Current, which
nmeans alternative current, where passes every 8,3 nsec ( 60 Hz
Brazilian Power Network ) the zero value. The alternative current
which is in the scale of 130A peak, changes continually the
Perneability by tine and nore, this fact nmaybe generates sone heat
on the Iron Shield, where again nmake the Perneability nore

unst abl e.

| f Aquino did the experinment ( W nust believe that he did it,
because we nust proceed to the investigation of this experinent ),
he observed these effects of the fluctuations of Perneability,

I ndirectly of course, by observing the instability of the wei ght
reduction near the critical current.

Instability of the current itself could not be observed, because
the Torus Shield Perneability cannot affect the Radiation
Resi st ance.

The above concl usion gives the evident that Professor Aqui no, knew
that it would be a problemand a conplex information for the
reader and for him to give the exact equation that describes the
ef fect.

So he gave the equation as described in his rel ated paper, which
was used as we have cal culated in the previous docunent, Shield
lron Torus with Initial Relative Magnetic Perneability of 500.



Hi s equation does not predict the change in Perneability in Torus
and he keeps the value 500 in the whole range of the used
currents. Again this happened as we have seen, because of the
conpl ex description of the Perneability in critical conditions.

| am absolutely sure that, his first experinent ( SystemH ) wth
the Iron ball, he did not have the above problem Because the
frequency in the first experinent was very |ow and below 1 Hz and
nore the currents, where he used was not large ( 10A max ). So the
Pernmeability was al nost stable and equal to the Initial
Perneability of the Iron Ball.The equation that he has witten may
predict the right results, without abnormalities in the rel ated
paper wth the SystemH
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